BlZt : A =

HOY 2RO TRMEL LS £2FZ

O RDBEWIZEZ XV,

D #HFE24mTRIEIL. SO TEKkmEA F T 5,

I\ -

L7

@ DETONTH K ADP»LONETHELCED Y 1Z, AkmTL £,

<EHE>

3\ -

L

B HEI.5mDT Y IE. 200 TAmE L F T

I\ -

UR‘
Ny

© . EIF EEG '@' @ @I [50%%@&7?§



 [venerye Aks: R B
5/ xe¥ 0645 O

HOYERHTHEMLELAS 23z

O RDBEWIZEZ XV,
D #HFE24mTRIEIL. SO TRIkmH#E A F T 5,
<ZEE>

X:24X50 = 1200
1200+ 1000 = [.2

gx: | .2 km

@ DETONTH K ADP»LONETHELCED Y 1Z, AkmTL £,
<ZEE>

A:70X40 = 2800
2800+ 1000 = 2.8

£x2: 2.8 km

B HEI.5mDT Y IE. 200 TAmE L F T

£:].5%20 = 30 B

© HEIF B2 % @i [g @i %003% @ hﬁ





